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1. The local authorities will take measures to deal with noise pollution in the area.

A. control B. learning C. power D. government
2. After the whole day’s march; they are too fatigued to walk any more.

A. hungry B. sleepy C. thirsty D. tired
3. Each leader had a solemn look as he signed the peace treaty.

A. sincere B. grave C. honest D. suspicious

4. It takes about an hour to get there, allowing for possible traffic delays.

A. attending B. taking account of C. in the charge of D. taking charge of
5. A bare hill appears behind the jungle.

A. bald B. humid C. immense D. level
6. Our company is collaborating with a Japanese firm in designing a new computer.

A. merging B. allocating C. communicating D. cooperating
7. Three straight lines meeting at three points constitute a triangle.

A. center on B. come down to C. consist of D. form
8. I think this is a deliberate insult.

A. careless B. intentional C. humiliating D. serious

9. The teachers want to do away with cheating in their school.
A. do credit to B. retain C. put an end to D. substitute for

10. They joined the army willingly.

A. intentionally B. consciously C. voluntarily D. reluctantly
11. He boasted that he was the best swimmer in his school.

A. bragged B. alleged C. claimed D. praised
12. Techniques to employ the energy of the sun are being developed.

A. convert B. store C. use D. receive
13. Our public transportation is not sufficient for the need of the people in our major cities.

A. additional B. efficient C. excessive D. adequate

14. When snow collects on top of a building during the winter, the weight sometimes weakens the

construction and occasionally causes the roof to collapse.

A. selects B. scatters C. melts D. accumulates
15. All foreign troops must withdraw from the country.

A. retain B. retire C revise D. retreat

F 285 FEHE (F16~228, §F 14, £74)
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Winners and Losers

Why are the biggest winners in the past decade of trade globalization mostly in South and East Asia, whereas
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the biggest losers are mostly in the former Soviet bloc (4£H1) and sub-Saharan Africa? History is a partial guide:
East Asia has a long trading tradition, lately reinvigorated by the Chinese adoption of market economics. The
Soviet Union, on the other hand, was sheltered from free-market forces for more than 70 years. In Africa, some
countries are disadvantaged because of inadequate infrastructure; many countries have little to trade but
commodities, the prices of which have fallen in recent years.

In some regions, certain countries have suffered by adopting misguided policies, often under pressure from
International Monetary Fund. First among these is Russia, which in the early 1990s tried to embrace capitalism
before first building the institutions that make capitalism work, such as an independent bank system, a system of
business law, and all adequate method for collecting taxes. Encouraged by the IMF, the World Bank and the U. S.
Department of the Treasury, President Boris Yeltsin's regime privatized the state-owned industrial sector, creating
a class of oligarchs (ZE3k BIR %A 51) , who knew how unstable conditions were at home, sent their money
abroad instead of investing it at home.

In contrast, China, the biggest winner from globalization, did not follow the IMF formula. Of the former states
of the Soviet bloc, only a few, notably Poland and Hungary, managed to grow, which they did by ignoring IMF
advice and adopting expansionary plans, including spending more than they collected in taxes. Botswana and
Uganda are also success stories. Despite their disadvantages, their countries achieved vigorous growth by creating

stable civil societies liberalizing trade and implementing reforms that ran counter to IMF prescriptions.

16. Japan has a long trading tradition.

A. Right B. Wrong C. Not mentioned
17. Russia was wrongly guided by the IMF.

A. Right B. Wrong C. Not mentioned
18. All African countries followed the IMF formula.

A. Right B. Wrong C. Not mentioned
19. The Soviet Union was a capitalist country.

A. Right B. Wrong C. Not mentioned
20. Australia is one of the biggest winners from globalization.

A. Right B. Wrong C. Not mentioned
21. China did not take IMF’s advice.

A. Right B. Wrong C. Not mentioned
22. Many high officials in Russia have much benefited from privatization.

A. Right B. Wrong C. Not mentioned

FE IS MIEAEESERAF (£23~308, 8814, £84)
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Is There a Way to Keep the Britain’s Economy Growing?

1 In today’s knowledge economy, nations survive on the things they do best. Japanese design electronics while
German export engineering techniques. The French serve the best food and Americans make computers.

2 Britain specializes in the gift of talking. The nation doesn’t manufacture much of anything. But it has lawyers,
stylists and business consultants who earn their living from talk, talk and more talk. The World Foundation think
tank says the UK’ s four iconic jobs today are not scientists, engineers, teachers and nurses. Instead, they’ re
hairdressers, celebrities, management consultants and managers. But can all this talking keep the British economy
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going? The British government thinks it can.

3 Although the country’s trade deficit was more than £ 60 billion in 2006, UK’s largest in the postwar period,
officials say the country has nothing to worry about. In fact, Britain does have a world-class pharmaceutical
industry, and it still makes a small sum from selling arms abroad. It also trades services —accountancy, insurance,
banking and advertising. The government believes Britain is on the cutting edge of the knowledge economy. After
all, the country of Shakespeare and Wordsworth has a literary tradition of which to be proud. Rock & roll is an
English language medium, and there are billions to be made by their cutting-edge bands. In other words, the
creative economy has plenty of strength to carry the British economy.

4 However, creative industries account for only about 4 percent of UK’s exports of goods and services. The
industries are finding it hard to make a profit, according to a report of the National Endowment for Science,
Technology and the Arts. The report shows only 38 percent of British companies were engaged in “irinovation
activities” , 3 percentage points below the EU average and well below Germany (61 percent) and Sweden
(47 percent) .

5 In fact, it might be better to call Britain a “servant” economy —there are at least 4 million people “in
service” . The majority of the population are employed by the rich to cook, clean, and take care of their children.
Many graduates are even doing menial jobs for which they do not need a degree. Most employment growth has
been, and will continue to be, at the low-skill end of the service sector—in shops, bars, hotels, domestic service and

in nursing and care homes.

23. Paragraph2 A Growth of Economy
B “Servant” Economy
24. Paragraph3 C Strength of the Creative Economy
D Weakness of the Creative Economy
25. Paragraph4 E Gift of Talking
F Export of Talking Machines

26. Paragraph 5

27. Every country has its own way

A to find jobs

28. The British government doesn’t seem B 1o do low-skill jobs
C to feed its people

29. The creative industries find it difficult D tohandle disputes
E to make a profit

F to worry about the British economy

30. Many graduates are employed .

LAy : FIEEM (F31~458, ST 34, H454)
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B The Iceman

On a September day in 1991, two Germans were climbing the mountains between Austria and Italy. High up
on a mountain pass, they found the body of a man lying on the ice. At that height (10,499 feet, or 3,200 meters) ,
the ice is usually permanent, but 1991 had been an especially warm year. The mountain ice had melted more than
usual and so the body had come to the surface.

It was lying face downward. The skeleton was in perfect condition, except for a wound in the head. There was
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still skin on the bones and the remains of some clothes. The hands were still holding the wooden handle of an ax
and on the feet there were very simple leather and cloth boots. Nearby was a pair of gloves made of tree bark and a
holder for arrows.

Who was this man? How and when had he died? Everybody had a different answer to these questions. Some
people thought that it was from this century, perhaps the body of a soldier who died in World War I, since several
soldiers had already been found in the area. A Swiss woman believed it might be her father, who had died in those
mountains twenty years before and whose body had never been found. The scientists who rushed to look at the
body thought it was probably much older, maybe even a thousand years old.

With modern dating techniques, the scientists soon learned that the Iceman was about 5,300 years old. Born in
about 3300 BC, he lived during the Bronze Age in Europe. At first scientists thought he was probably a hunter who
had died from an accident in the high mountains. More recent evidence, however, tells a different story. A new
kind of X-ray shows an arrowhead still stuck in his shoulder. It left only a tiny hole in his skin, but it caused
internal damage and bleeding. He almost certainly died from this wound, and not from the wound on the back of
his head. This means that he was probably in some kind of a battle. It may have been part of a larger war, or he
may have been fighting bandits. He may even have been a bandit himself.

By studying his clothes and tools, scientists have already learned a great deal from the Iceman about the times
he lived in. we may never know the full story of how he died, but he has give us important clues to the history of

those distant times.

31. The body of the Iceman was found in the mountains mainly because
A. he was lying on the ice
B. he was just on a mountain pass
C. two Germans were climbing the mountains
D. the melted ice made him visible
32. What can be inferred from paragraph 2?
A. The Iceman lived a poor life.
B. The Iceman was struck dead from behind.
C. The Iceman was killed while working.
D. The Iceman could have died from the wound in the head.
33. All the following are assumptions once made about the Iceman EXCEPT
A. he was a soldier in World War I
B. he was a Swiss woman’s long-lost father
C. he came from Italy
D. he was born about a thousand years ago
34. The scientists made the deduction that the Iceman
A. had got a wound on the back of his head
B. had a tiny hole in his skin causing his death
C. was hit in the shoulder by an arrowhead
D. was probably in some kind of a battle
35. The word “bandits” in paragraph 4 could be best replaced by .
A. soldiers
B. hunters
C. robbers
D. shooters
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- -y -} Calling for Safe Celebrations This Fourth of July

Last Fourth of July, Pete, a 14-year-old boy, was enjoying the lit-up skies and loud booms from the fireworks
being set off in his neighborhood. Suddenly, the evening took a terrible turn. A bottle rocket shot into his eye,
immediately causing him terrible pain. His family rushed him to the emergency room for treatment. As a result of
the injury, Pete developed glaucoma and cataracts. Today, Pete has permanent vision loss in his injured eye
because of his bottle rocket injury.

June is Fireworks Eye Safety Awareness Month, and through its Eye Smart campaign the American Academy
of Ophthalmology wants to remind consumers to leave fireworks to professionals. “There is nothing worse than a
Fourth of July celebration ruined by someone being hit in the eye with a bottle rocket,” said Dr. John C. Hagan,
clinical correspondent for the Academy and an ophthalmologist at Discover Vision Centers in Kansas City. “A
safe celebration means letting trained professionals handle fireworks while you enjoy the show.”

According to the U. S. Consumer Product Safety Commission, more than 9,000 fireworks related injuries
happen each year. Of these, nearly half are head-related injuries, with nearly 30 percent of these injuries to the eye.
One-fourth of fireworks eye injuries result in permanent vision loss or blindness. Children are the most common
victims of firework abuse, with those fifteen years old or younger accounting for 50 percent of fireworks eye injuries
in the United States. Dr. Hagan estimates that his practice sees more than 30 injuries each year from fireworks.

Even fireworks that many people consider safe represent a threat to the eyes. For children under the age of
five, apparently harmless sparklers account for one-third of all fireworks injuries. Sparklers can burn at nearly
2,000 degrees Fahrenheit.

36. What happened to Pete last Fourth of July?
A. He was burned in a house fire.
B. He was caught in a rain.
C. He was injured in a fight.
D. He was hit in the eye.
37. The American Academy of Ophthalmology calls on consumersto
A. celebrate the Fourth of July with fireworks.
B. leave fireworks to professionals in their celebrations.
C. stop celebrating the Fourth of July altogether.
D. set off fireworks together with trained professionals.
38. How many fireworks eye injuries occur in the US each year?
A. About 9,000.
B. About 4,500.
C. About 1,350.
D. About 30.
39. Fireworks eye injuries can result in each of the following EXCEPT
A. blindness.
B. permanent vision loss.
C. glaucoma and cataracts.
D. head-related injuries.
40. Which is NOT true of sparklers?
A. They are harmless to children.

B. They are considered safe by many people.
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C. They are a threat to the eyes.
D. They can burn at very high degrees.

=5 Food for Learning

In Eritrea, a small country in northeast Africa, approximately 80 percent of the population is illiterate. That
percentage is even higher in woman. As in many developing countries, many Eritreans have traditional ideas about
the role of women. They believe that women should stay home and take care of the family and should not get an
education or look for a job.

These beliefs are one of the factors that prevent Eritrea and other developing countries from improving their
economic situation. Experience in many developing countries has shown that educated women have fewer children
and have more opportunities for improving their lives and the lives of their families. In Eritrea, in fact, there is great
need for improvement. It is one of the poorest countries in the world. For many Eritrean families, getting enough
food is a daily problem.

To deal with these problems, the Eritrean government together with the World Food Program, has a new
program that offers food as a reward for learning. In primary schools, all the children receive food packages to take
home to their families. However, with the new program, the girls receive more food than the boys. This way,
parents are encouraged to send their daughter to school rather than keeping them at home.

Another government program that aims to educate women is Food for Training. Managed by the National
Union of Eritrean Women, this program offer food rewards (also from World Food Organization) to women and
elder girls who are willing to join the program. Because of the war with Ethiopia, many women are bringing up
their families on their own. They often live in refugee camps, with no land of their own and no way to earn money.
Most of these women are illiterate and have no skills to find a job. They spend most of their day looking for food
and preparing it for their families.

The Food for Training program helps the teenagers and women change their lives. If they agree to join the
program, they receive a large package of food each month. In return, the women are required to attend free literate
classes for two hours every day. When Food for Training classes were open in two regions of Eritrea, 5000 girls
and women joined in the first two months. It is especially popular with teenage girls, aged fourteen to sixteen, who
have never had a chance to go to school before.

The organizers of Food for Training also plans to offer other kinds of courses for women, using the same
system of food rewards. In these courses, they will teach women job skills and crafts such as basket weaving. These
women will not only learn to read and write. They will become aware of what is going on in their country.

41. According to the passage, traditional ideas about women
A. are rejected by younger generation
B. help improve the economy
C. hinder economic development
D. have little impact on economic development
42. The Eritrean government is offering extra food to girls in school in orderto
A. encourage to keep girls at home
B. change traditional attitudes towards women
C. help girls feed their families

D. create more jobs for Eritrean teachers
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43. With the Food for Learning program, women get a large package of food as longas
A. they attend free literacy classes every day
B. they have no land of their own
C. they bring up their families on their own
D. they live in refugee camps
44. The new literacy programs are an example of
A. the work of 5,000 women and teenage girls
B. the problems with the aid of international organizations
C. local and international organizations working together
D. the Eritrean government working to keep its power
45. According to the passage, Food for Training will
A. help women better their lives
B. encourage women to leave their country
C. teach women about international aid

D. allow women to spend more time at home

F 5o EEX ($46~50%, BE24, #£1045)
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Ludwig Van Beethoven

Ludwig Van Beethoven, a major composer of the nineteenth century, overcame many personal problems to
achieve artistic greatness.

Born in Bonn, Germany, in 1770, he first studied music with the court organist, Gilles van der Eeden. His
father was excessively strict and given to heavy drinking. 46  Appointed deputy court organist to Christian
Gottlob Neefe at a surprisingly early age in 1782, Beethoven also played the harpsichord. In 1792 he was sent to
Vienna by his patron, Count Ferdinand Waldstein, to study music under Haydn.

Beethoven remained unmarried. 47  Continually plagued by ill health, he developed an ear infection
which led to his tragic deafness in 1819.

48  He completed mature masterpieces of great musical depth: three piano sonatas, four string quartets,
the Missa Solemnis, and the 9th Symphony. He died in 1827. 49
Noting that Beethoven often flew into fits of rage, Goethe once said of him, “I am astonished by his talent,

but he is unfortunately an altogether untamed personality. ” 50

A. In spite of this handicap, however, he continued to write music.

B. Because of irregular payments from his publishers and erratic support from his patrons, he was troubled by
financial worries throughout his adult life.

C. His life was marked by a passionate dedication to independence.

D. When his mother died, Beethoven, then a young man, was named guardian of his two younger brothers.

E. Although Beethoven’s personality may have been untamed, his music shows great discipline and control,
and this is how we remember him best.

F. Today his music is still being played all over the world.
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Less Is More

It sounds all wrong —drilling holes in a piece of wood to make it more resistant to knocks. But it works
because the energy from the blow gets distributed throughout the wood rather than focusing on one weak spot. The
discovery should lead to more effective and lighter packaging materials. Carpenters have known _ 51 centuries
that some woods are tougher than others. Hickory (1L #kA) | for example, was turned into axe handles and
cartwheel spokes (§£%f) because it can absorb shocks without breaking. White oak, for example, is much more
easily damaged, 52 it is almost as dense. Julian Vincent at Bathe University and his team were convinced the
wood’s internal structure could explain the differences.

Many trees have tubular vessels that run 53 the trunk and carry water to the leaves. In oak they are large,
and arranged in narrow bands, but in hickory they are smaller, and more evenly distributed. The researchers

54 this layout might distribute a blow’s energy throughout the wood soaking up a bigger hit. To test the idea,
they drilled holes 0.65 millimetres across into a block of spruce (z4%) ,a wood with 55  vessels, and found
that 56  withstood a harder knock. 57  when there were more than about 30 holes per square centimetre
did the wood’s performance drop off.

A uniform substance doesn’t cope well with knocks because only a small proportion of the material is
actually 58 . All the energy from the blow goes towards breaking the material in one or two places, but often
the pieces left 59  are pristine (RZWILH)) .

But instead of the energy being concentrated in one place, the holes provide many weak spots that all absorb
energy as they break, says Vincent. “You are controlling the places 60 the wood breaks, and it can then
absorb more 61 , more safely.” The researchers believe the principle could be applied to any material 62
example to manufacture lighter and more protective packaging. It could 63  be used in Car bumpers, crash
barriers and armor for military vehicles, says Ulrike Wegst, 64  the Max Plank Institute for Mental Research in
Stuttgart. But she emphasizes that you 65  to design the substance with the direction of force in mind. “The
direction of loading is crucial,” she says.

51.A.in B. since C. for D. at

52. A.or B. although C. and D. despite
53. A. down B. over C.up D. into

54. A. knew B. concluded C. saw D. thought
55. A.no B. per C. each D. every
56. A. it B. the idea C. they D. spruce
57.A.If B. Just C. Only D. Rarely
58. A. effected B. beaten C. slapped D. affected
59. A. behind B. beyond C. for D. in

60. A. which B. there C. that D. where
61. A. water B. air C. energy D. safety
62. A. among B. in C.as D. for

63. A. also B. besides C.else D. yet

64. A. over B. at C. around D. on

65. A. have B. must C. should D. had
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I.C authority: )& . B J7, Ml power (KUJ1. #J1. BAD FEAHL; control: . M, X
fi; learning: 2%, HIi; government: BT,

2.D fatigue: #F7(1, %TF tired; hungry: YLHKAY; sleepy: HEEM; thirsty: B,

3.B solemn: JE/RY. HER . FEHA, Flgrave Gy, MCER) BEEAMFZAL; sincere: H
i ; honest: ¥RIIH; suspicious: PREEH.

4.B allow for: ZEH|. K, F take account of & EA[F; attend: HUEI, #¥; in (the) charge
of: fE----- Wi (s FEY) 2 F; take charge of: 4%, fidi.

5. A bare fl bald &AM, #ER “HFEM . EFEAM”; humid: FIEMK; immense: B KMH;
level: “FiY. K.

6. D collaborate fil cooperate #f % /x “ G VE"; merge: & . @A ; allocate: ZFEL. B4
communicate: 3. Bk .

7.D constitute: JEM . 1AL, HIAL, Al form BLAIIE]; centeron: [FZE. Lhe--oo Al come
downto: AFK . WA . HEEH; consistof: Hi--- A, oo F R

8.B deliberate fil intentional &R “BEM . fFOM"; careless: M.L¥; humiliate: f#i----- EH;
serious: JUHLM) . A,

9.C doaway with: 2. %Pk, #lputanendto “ffi----- ZEd . I BEMIEE; do creditto: A
""" WA (UfEEF) ; retain: {RFF. RE; substitute for: fLEF.

10. C  willingly il voluntarily #8# /8 “ [ &, JKSRHL”; intentionally: #{FEHE; consciously: £ &N
Hb; reluctantly: AN b,

11. A boast Fl brag #FEK /R “HZE . WH"; allege: EHFK. Wi ; claim: AFR. FK; praise: %% .

12. C  employ 7EItA]HFl use BEAHIR], F/m “NiF”; convert: 57F, Fgi; store: WK, 4%,
receive: WLF.

13.D sufficient 1 adequate &R0 LA /R “RUEHT . F4HAY7; additional: BN . J34ME;  efficient:
R excessive: 1 EH . R,

14.D  collect: %Eh . %4, Flaccumulate (FLZE .| BUE . HH) ZOHILT; select: #E£E. Phik;
scatter: AF. WAL, #H&; melt: flfk.

15. D withdraw: WCE . &S . B, Fretreat (GE . 1BH) FEMIE; retain: {28 . 4%,
retire: iBIK. BRUR; revise: 1B, #&IH .

£ 285 FIEFIE

16. A XIEBRE 45 1 Bob9—4)3% . East Asia has a long trading tradition, H A Z W E %, H
IMEA &AM RS T .

17. A ABRARTE T AESS 2 B P L3R5, SO e M R 8 B4 R S B 0 T KRBT [®BR
FRmEEAS (IMF) RSMBOR, & W HRZha—1,

18. B 7ESCE M —BHR B T — 26 R 84 e 18 IMF g9 32 & T M R8s i )+, Horhde 3
M~ 4E Y E K Botswana Fil Uganda, [ ifif AT 45 JE # [ ZC8B K 0 IMF B 09158 22 AT

19.B %% 1 Bt LA 4] . The Soviet Union, on the other hand, was sheltered from free-market forces for
more than 70 years (70 ZHEANETIHAFHER AR ASEEARATEXEEK) .
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20.C CHRARFIBKHE .

21.A AR CERG BRI 1 aE e , China, the biggest winner from globalization did
not follow the IMF formula. Bl [ %4 #2 B8 IMF A9 248

22.C 765 2 BAKRBIRTRB BRGNS, ARA A S EERA TR P25,

FE Iy BMEABESERAT

23.E 452 B F AR 1 M) T, RIX AL Britain specializes in the gift of talking, % [E A
Fr RA IR KR, BT R BB E KIRAE L DT R A H . MR, &R
SR BE AR S R A B s F AR T BE ), R AR SR R AE VRIS K

24.C WEREESIESLK Shakespeare Fll Wordsworth (I %, lfiTLA K 5 E M FE R SR A B0 T R
WM E, tobEEBES TR, SR TR, Fik C 2XH.

25.D 55 B 1 MR IX 41 : However, creative industries account for only about 4 percent of
UK ’s exports of goods and services (AT, Bl HAT LA FPAARS 1O R G E G D 0E 5
ZWEEAT ) Al AT RS Y

26.B 5 4 B 1 AT X A ULHY . In fact, it might be better to call Britain a “servant”
economy — there are at least 4 million people “in service”  (SEPr I, #03% E 928 5 5 55 22 05 o
W Y —se——[F O 204 DU 7 AEMUIR S5 TAE) o Xt A, Rtk B,

27.C %1 BFEI TS KIWARRE T, & ERHE B CHSRIIA A, FiE: to feed its people
FEEHCHAR) .

28.F 5 2 B J5 W 4) 3% /23X 41569 . But can all this talking keep the British economy going? The
British government thinks it can. ({FJ2, Frf AX AULTERE LS H W58 g S (= BURFIA K J&
ATLARY ) AT D3 E B GO AL S E 2 5F, T LA F 2N,

29.E XANBESETE 4 Bh i — AT, %4 FRIX AU The industries are finding it hard to
make a profit, according to a report of the National Endowment for Science, Technology and the Arts (&
WEER . EARMZARBWE G — i, X QG AT AERAT i _E IR FME) .

30.B 55 5 BtfiiX 44—/~ F: Many graduates are even doing menial jobs for which they do not need a
degree (IFZ LA H BEMORNT EEM MMM T, (M TAERR FREARWTE . Kk, B
REIEHIN

E A4Sy PNIEIEMR

EF—8

31. D vKAF ARG A B S R 7E SCREASE 1 BE42%) . The mountain ice had melted more than usual and
so the body had come to the surface. FIHITE SERILAI VKR 25 T ok, FEitt D IF#.

32.D  ABIFL#EF It was lying face downward. The skeleton was in perfect condition, except for a wound
inthe head (EHIEAT, BRTLIMAHI, BIORGRLE) , FHHCHERT, vk ATBESE T3K35B45 1,
NS D,

33.C JRSCTESS 3 Bt A: RN LE; B: iR —iE IO L RBELEMALE; D ik
ATE—TAERT A, X 3 WIfESCrh el ARE . Wikl C: fhok (KA, FEXEPERA MM, %
FIHEBR LR A S C,

34.D JESCAESS 4 B A: KEFAGD, BHELMAES; B: KK ER/NMLSBULIIET:, REFE
I C: AR RBEET LAY, RECWIEREL; D ATRES 5idisk, BHEe, FE D,
35.C  JFUBURHE 4 Bt bandits RAFAFE? A: Mt B: A C: ®¥E; D: §HEF. ZAER

o “aREsT, HiE C.

Bk - A AGAE W 10 5T dE 12 )
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36.D  HSCHE | BEE], 4E 7 H 4 H, Pete 7EULA [ POAG AHRRCE A 32 4t IR o

37.B  MSCHS 2 BRbR, 35 IRRLE 2 0 AR OB B R B Lkl A BRSO K, TR O
RS -

38.C  AISCHOAS 3 BlkE), fEEEmAERAE 9,000 ZREAMASHIGE, Hba —ERKEN, m
e —p kb, W =2 — R

39.D [ =0 fE 3 SCER A BB Rt . i head-related injuries f 7 fireworks eye injuries, 1A/
HS3m.

40. A G —BHF], sparklers fEIFZ ABREE M, BIHIXT/NF 5 ZMBFRIR, LT
AL TS BRI 3 0 =40 2 —#F 2 h sparklers S8, BARENIARKAEFHN.

E=E

41.D MCES | BURJG—ABATAE, E5WEH, O iyE AR FRIBIKEE, o Wabfilxte
TR SRS GHOT- 6, BTLL D IEA

42.B 3 BerhalpiE e the girls receive more food than the boys. This way, parents are encouraged
to send their daughter to school rather than keeping them at home.” @88, BUFILZFE T SUE X 04 /)
G

43. A %5 5 Bt 3 /1) “In return, the women are required to attend free literate classes:"+*- 7B H ]
I RN IR T A B XY, Frllak A,

44.C %5 3 BX% 1 4] To deal with their problems, the Eritrean government together with the World Food
Program, has a new program that offers food as a reward for learning. 7] L, iX— 55 H J& 24 #h B F1 1=
PRENUATERIZE R . R, 55 C 1EHf .

45. A PSS 5 BEES 1 A1) . The Food for Training program helps the teenagers and women change their
lives, AR, %I H BRI Lo A 06 2 Ao

E 5D HEEX

46.D AR AN Z IS LAERE L BT — A0 B A SR X R 43, i ELAN . D Y
R TE ,, ER—MFERAR ISR/ R R R A . 8 D JRE X BB RE S,
ARSI

47.B  ABNANZIF AR S, B RaIE

48. A ] this handicap 7&$% FBL, 15 FBUw/a G RPN HERX 5K, 2UNEERENZ
SFEIREW, METIRAUE . WOURE A8 T I 2R AR, AL e A 5 BT XA
®, BEES.

49.C FIMOAIE, fEENGE T NZFMAEF, T8RO, C ol iy —4 =ZHRTI8
SRBSLH—A, R A SR

50. B ABCE AR RMRAERS D 2P PERS A, BLIERR S IR, A, E UUE N Z2FM S
TEBRANKE , (AR ¥ SRR ke, AL, XA R (AR IR & it s

F6Hy: ERES

51.C for centuries F/R JLML LK. H 8, 7EHBAE S RN A F 1L, for Ji i BR— BEASIE], since
Ji5 T PR A ]

52.B X HEANER, (AEERER CBRT XFERIEEE X,

53.C RMHAERSG L, BT LAZERS T B4 K 23 6 B i B 25 4945 18 13 1% 156 run up the trunk, 1] AS 2
run down the trunk .

54.D XHEITRHUUE—MER, EEEASSE might, FRXIBULE—Fa]6E, 52t
AT test.,
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